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Year 7-8 Joints Revision Sheet 1 Crossword

Instructions: Fill in each answer by using the clues below.

Across Clues

The bones of immovable joints are separated by a
thin layer of connective tissue. (7)
The largest hinge joint in the body is the

4

Osteoarthritis involves the breakdown of the

. (9)

'Wear and tear' of a joint is called

arthritis. (5)

The term for straightening limbs at a joint. (9)
The term used for bending the limbs at a joint. (7)
Movement towards the midline of the body. (9)
Joints can be moved by that
work in pairs. (7)

Down Clues
Arthritis is signified by joint

(12)

This contains a very important pivot joint. (4)
How many bones form the wrist? (5)

These connect bone to bone. (9)

This contains an immovable joint. (7)

Knees, hips, ankles, wrists and shoulders are all
example of synovial . (6)

A crcular movement around a fixed paint. (8)
Joints are usually classified via structure or

. (8)

No active movement takes place at an

joint. (9)

A yellowish oiy fluid that ubricates a pint:

fluid. (8)

For movement, the brain sends a message via the
to the muscles. (6)

This is important for the nutrition of joints. (8)
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ear 7-8 Joints Revision Sheet 1 Crossword Sol...

(" ACROSS: R
3.FIBROUS 4KNEE 6.CARTILAGE
11.OSTEO 13.EXTENSION 18.FLEXION
19.ADDUCTION 20.MUSCLES

DOWN:

1.INFLAMMATION 2NECK S.EIGHT
7.LIGAMENTS 8.CRANIUM 9.JOINTS
10.ROTATION 12.FUNCTION
14IMMOVABLE 15.SYNOVIAL
16.NERVES 17.EXERCISE




